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6- Classify the following words with their synonyms: Emerge,

evolve, develop, collapse, originate, decline, spread, fall to

decay/ to ruins, vanish, mature, disappear, start, tw‘ |
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7- The previous civilizations were

'tvagreat empires but
at expected. Write a

composition of about 1 ds where you mentio
what were the major causes of the ancient civilizal.
{ 1

they fall into decay and

downfall? (\
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a- Internal conflicts, fighting for the throne and plotting against the
king, were among the key factors in the decline of many empires.

b- External wars, the previous civilizations sought to expand their
colony,%40 they began invading other countries and stealinﬁir

lands and goods, so their economy was destroyed and that
their decline.

c- Climate change is one of the primary causes of the dnwf,H of
many empires because it has increased the rate of rq I dls
viliz

such as drought and floods, and since the previ

depended mainly on agriculture such problem all the
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The paragraph sample: ‘ ‘ ‘ ‘ ‘ ‘ 4 ‘
The ancient civilizations were able to build great &

ver they

brought significant contributions to the modern

collapsed due to many factors.

[N

for the th nd

tors in the decline of

o contributed he decline
Ious civilization

First of all, internal conflicts cause

plotting against the king were am
many empires. In addition, Exter

of the ancient CWI|IZH‘|:IDH since

ince the previous civilizations d ded mainly on
lems led to los ﬁall t:? s.
w

p, internal conflicts, externa v ars, and natural disasters
were among the major causes behind the decline of many

civilizations.
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